


P e li n t a v oi t e
P eli n t a v oi t t e e n a o n k e r ä t ä pi s t ei t ä  sij oi t t a m all a 
ki vi ä  l a u d all e  m a h d olli si m m a n  pi t kii n   ri v ei hi n,  
j o k o  p y s t y y n  t ai  v a a k a a n.  E ni t e n  pi s t ei t ä  1 0  
 ki e r r o k s e n  ai k a n a  k e r ä n n y t  p el a aj a  v oi t t a a  
 p eli n.

P e li v a l mi s t e l u t
J o k ai n e n p el a aj a v ali t s e e i t s ell e e n y h d e n v ä ri s e t 
ki v e t  j a  k e r ä ä  k ai k ki  k y m m e n e n  ki v e ä ä n  e t e e n -
s ä. P elil a u t a a s e t e t a a n p eli al u e e n k e s k ell e. P eli n 
al oi t t aj a a r v o t a a n n o p all a.

P e li n k u l k u 
K u ki n  p el a aj a  h ei t t ä ä  v u o r oll a a n  k ai k ki  k u u si  
n o p p a a. P el a aj a v oi j o k o pi t ä ä h ei t e t y n t ul o k s e n 
t ai  h ei t t ä ä  k ai k ki  t ai  o s a n  n o pi s t a  u u d e s t a a n.  
V u o r o n ai k a n a o n e ni n t ä ä n k a k si u u si n t a  h ei t t o a. 
J o s  p el a aj a  o n ni s t u u  p ä ä t t ä m ä ä n  h ei t t o v u o -
r o n s a  y h t ä  p elil a u d a n  v a p ai s t a  r u u d ui s t a  v a s -
t a a v a a n  t ul o k s e e n,  s a a  p el a aj a  sij oi t t a a  y h d e n  
 ki vi s t ä ä n k y s ei s e e n k o h t e e s e e n. U s ei n p el a aj all a 
o n  u s e a m pi a  v ai h t o e h t oj a,  j oll oi n  p el a aj a  s a a  

2- 4 p e l a aj a a
3 0 mi n
8 ±

v ali t a mi hi n r u u t u u n ki v e n sij oi t t a a. E si m. t ul o s 
6, 4, 4, 4, 2, 2  v oi d a a n  sij oi t t a a  ” K ai k ki  p a rilli si a ”  
- r u u t u u n t ai ” 1 x k ol m o s e t 1 x p a ri ” - r u u t u u n.  

J o s  p el a aj a  h ei t t ä ä  vii t o s e t  eli  vii si  s a m a a  
 n u m e r o a  t ai  k u u d e n  s u o r a n  ( 1, 2, 3, 4, 5, 6),  s a a  
h ä n  sij oi t t a a  ki v e n  mi hi n  t a h a n s a  v a p a a s e e n  
r u u t u u n.

J o s  p el a aj a  h ei t t ä ä  k u u t o s e t  eli  k u u si  s a m a a  
n u m e r o a,  s a a  h ä n  sij oi t t a a  ki v e n  mi hi n  t a h a n -
s a  r u u t u u n.  J o s  k y s ei s e s s ä  r u u d u s s a  o n  j o  ki vi,  
 p el a aj a s a a sii r t ä ä t ä m ä n ki v e n p oi s ti el t ä mi hi n 
t a h a n s a v a p a a s e e n r u u t u u n l a u d all a.

J o s  p el a aj a  ei  o n ni s t u  h ei t t ä m ä ä n   ai n u t t a k a a n  
p elil a u d a n  k o h t ei s t a,  h ä n  sij oi t t a a  y h d e n  
 ki vi s t ä ä n  p elil a a ti k k o o n.  K u n  p el a aj a  o n  
 sij oi t t a n u t  ki v e n,  l a u d all e  t ai  l a a ti k k o o n,  v u o r o  
v ai h t u u m y ö t ä p äi v ä ä n.

Yl e e n s ä  p a r a s  p ai k k a  sij oi t t a a  ki vi  o n   s a m all e  
 ri vill e  ( p y s t y y n  t ai  v a a k a a n)  j o   sij oi t e t t uj e n  
o mi e n  ki vi e n  k a n s s a,  j o s  m a h d olli s t a.   
( k s.  Pi s t ei d e n l a s k u)

Si s ä l t ö
- 1 p e li l a u t a

- 6 n o p p a a
- 4 0 ki v e ä

( 1 0 p e r v ä ri)

- E n n e n vii m ei s t ä h ei t t o a ei mi k ä ä n o l e Ki v e e n h a k a t t u a -



K ai k ki  h ei t e t y t  n o p a t  h u o mi oi d a a n   t ul o k s e s s a.  
J o s p el a aj a h ei t t ä ä 5, 5, 5, 3, 3, 2 t ul e e ki vi sij oi t t a a 
” 1 x k ol m o s e t 1 x p a ri ” - r u u t u u n, ei ” K ol m o s e t ” 
- r u u t u u n 

Pi s t ei d e n l a s k u
K u n  j o k ai s ell a  p el a aj all a  o n  oll u t  k y m m e n e n  
v u o r o a  j a  k ai k ki  ki v e t  o n  sij oi t e t t u,  l a s k e t a a n  
pi s t e e t.  

Y k si t t äi si s t ä  ki vi s t ä  s a a  pi s t ei t ä  s e n  r u u d u n  
 m u k a a n, j o s s a ki vi o n:

•  P u n ai n e n r u u t u o n 3 pi s t e e n a r v oi n e n 

•  M u s t a r u u t u o n 2 pi s t e e n a r v oi n e n

•  V al k oi n e n r u u t u o n 1 pi s t e e n a r v oi n e n 

Y h t e n äi s t e n  k e tj uj e n  pi s t e e t  l a s k e t a a n  si t e n,  
e t t ä  k e tj u n  ki vi e n  y h t ei s pi s t e e t  k e r r o t a a n  
 k e tj u u n  k u ul u vi e n  ki vi e n  m ä ä r äll ä.  K e tj uj a  v oi  
 m u o d o s t u a  j o k o  p y s t y-  t ai  v a a k a s u o r a a n  eli  
 j o t k u t ki v e t v oi v a t t u o d a pi s t ei t ä k a h d e s ti.

P e li l a u d a n k o h t e e t e si m e r k ki h ei t oi n

Vi h r e ä n p el a aj a n pi s t e e t:

V a a k a a n ki v e t 1 + 2 + 3 = 6, 
k e tj u y h t. 6 x 3 = 1 8

V a a k a a n ki v e t 3 + 2 = 5, 
 k e tj u y h t. 5 x 2 = 1 0

P y s t y y n ki v e t 2 + 1 + 2 = 5, 
k e tj u y h t. 5 x 3 = 1 5

P y s t y y n ki v e t 2 + 3 = 5, k e tj u 
y h t. 5 x 2 = 1 0

Y k si t t äi s e t ki v e t 1 + 2 = 3

Pi s t e e t y h t e e n s ä = 5 6

E si m e r k ki pi s t ei d e n l a s k u s t a

2 x P a ri      = 1, 1, 2, 2, 5, 6

3 x P a ri      = 1, 1, 2, 2, 3, 3

K o l m o s e t     =  1, 1, 1, 2, 3, 5
N e l o s e t     =  1, 1, 1, 1, 2, 3

1 x k o l m o s e t 1 x p a ri  = 1, 1, 1, 2, 2, 3

1 x N e l o s e t 1 x P a ri   = 1, 1, 1, 1, 2, 2

2 x K o l m o s e t    = 1, 1, 1, 2, 2, 2

N e lj ä n  s u o r a    = 1, 2, 3, 4, 6, 6
Vii d e n s u o r a    = 1, 2, 3, 4, 5, 5

K ai k ki p a ri t t o mi a    = 1, 3, 5, 1, 3, 5

K ai k ki p a ri l li si a    = 2, 4, 6, 2, 4, 6

6 n o p a l l a 1 2 t ai v ä h e m m ä n  = 1, 2, 2, 3, 3, 1

6 n o p a l l a 3 0 t ai e n e m m ä n  = 6, 6, 5, 5, 2, 6
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M å l e t m e d s p e l e t
M ål e t  ä r  a t t  s a ml a  p o ä n g  g e n o m  a t t  pl a c e r a  
s t e n a r p å s p el pl a n e n a n ti n g e n h o ri s o n t ell t ell e r 
v e r ti k al t  s å  a t t  s t e n a r n a  bil d a r  m a xi m al t  l å n g a  
k e dj o r. Vi n n e r g ö r d e n s o m s a ml a t h ö g s t p o ä n g 
u n d e r 1 0 o m g å n g a r. 

F ö r b e r e d e l s e r
V a rj e  s p el a r e  v älj e r  s t e n a r n a  i  e n  f ä r g  o c h  
 s a ml a r  all a  ti o  s t e n a r  f r a mf ö r  si g.  S p el pl a n e n  
l ä g g s i mi t t e n a v s p el o m r å d e t. E t t t ä r ni n g s k a s t 
a v g ö r v e m s o m b ö rj a r. 

S p e l a 
V a rj e  s p el a r e  sl å r  i  si n  t u r  all a  s e x  t ä r ni n g a r.  
S p el a r e n  k a n  a n ti n g e n  b e h åll a  r e s ul t a t e t  ell e r  
sl å o m all a ell e r e n d el a v t ä r ni n g a r n a.  D e t g å r 
a t t  sl å  o m  h ö g s t  t v å  g å n g e r  u n d e r  e n  t u r.  O m  
s p el a r e n l y c k a s a v sl u t a si n t u r m e d e t t r e s ul t a t 
s o m m o t s v a r a r n å g o n a v r u t o r n a p å s p el pl a n e n, 
k a n  s p el a r e n  pl a c e r a  e n  a v  si n a  s t e n a r  i  d e n n a  

2 – 4 s p e l a r e
3 0 mi n
8 ±

r ut a.  D e t  fi n n s  of t a  fl e r a  al t e r n a ti v  o c h  d å  k a n  
s p el a r e n  v älj a  m ell a n  r u t o r n a.  T. e x.  r e s ul t a t e t  
6, 4, 4, 4, 2, 2 k a n pl a c e r a s i r u t a n ” All a j ä m n a t al ” 
ell e r i r u t a n ” 1 x t ri s s 1 x p a r ”. 

O m  s p el a r e n  sl å r  f e m t al,  d v s.  f e m  t ä r ni n g a r  
m e d  s a m m a  siff r a,  ell e r  s e x s t e g e  ( 1, 2, 3, 4, 5, 6),  
k a n  s t e n e n  pl a c e r a s  i  vil k e n  l e di g  r u t a  s o m  
h el s t.

O m s p el a r e n sl å r s e x t al, d v s. s e x t ä r ni n g a r m e d 
s a m m a  siff r a,  k a n  s t e n e n  pl a c e r a s  i  vil k e n  r u t a  
s o m  h el s t.  O m  d e t  r e d a n  fi n n s  e n  s t e n  i  r u t a n,  
f å r  s p el a r e n  fl y t t a  s t e n e n  f r å n  r u t a n  till  vil k e n  
s o m h el s t l e di g r u t a p å s p el pl a n e n.

O m  s p el a r e n  i n t e  l y c k a s  m a t c h a  e n  e n d a  a v  
 r u t o r n a  p å  s p el pl a n e n,  pl a c e r a r  s p el a r e n  e n  
s t e n i s p ell å d a n. Ef t e r a t t s p el a r e n h a r pl a c e r a t 
e n s t e n, p å pl a n e n ell e r i l å d a n, g å r t u r e n vi d a r e 
m e d s ol s.

O b s 1. F ö r d e t m e s t a l ö n a r d e t si g a t t pl a c e r a e n 
s t e n  p å  s a m m a  r a d  ( v å g-  ell e r  l o d r ä t t)  m e d  d e  
e g n a  s t e n a r n a  s o m  r e d a n  fi n n s  p å  s p el pl a n e n.  
( s e P o ä n g r ä k ni n g)

I n n e h å l l
- 1 s p e l p l a n

- 6 t ä r ni n g a r
- 4 0 s t e n a r

( 1 0 p e r f ä r g)

- E t t t ä r ni n g s k a s t ti l l e t t b r a l ä g e -



O b s 2.  All a  t ä r ni n g a r  b e a k t a s  i  r e s ul t a t e t.  O m  
s p el a r e n  sl å r  5, 5, 5, 3, 3, 2  b ö r  s t e n e n  pl a c e r a s  i  
r u t a n ” 1 x t ri s s 1 x p a r ”, i n t e i r u t a n ” T ri s s ”.

P o ä n g r ä k ni n g
N ä r  all a  s p el a r e  h a r  s p el a t  1 0  t u r e r  o c h  all a  
 s t e n a r  h a r  pl a c e r a t s,  ä r  d e t  d a g s  a t t  r ä k n a  
 p o ä n g. D e e n s t a k a s t e n a r n a f å r p o ä n g e nli g t r u -
t a n d ä r s t e n e n li g g e r:

•  E n r ö d r u t a ä r v ä r d 3 p o ä n g 

•  E n s v a r t r u t a ä r v ä r d 2 p o ä n g

•  E t t vi t t  r u t a ä r v ä r d 1 p o ä n g 

O a v b r u t n a  k e dj o r  f å r  p o ä n g  s å  a t t  d e  s a m m a n -
l a g d a  p o ä n g e n  f ö r  s t e n a r n a  i  k e dj a n  m ul ti-
pli c e r a s m e d a n t al e t s t e n a r i k e dj a n. K e dj a n k a n 
v a r a  a n ti n g e n  h o ri s o n t ell  ell e r  v e r ti k al,  d v s.  
 vi s s a s t e n a r g e r p o ä n g t v å g å n g e r.

R u t o r n a p å s p e l p l a n e n

P o ä n g f ö r d e n g r ö n a s p el a r e n:

H o ri s o n t ell t 1 + 2 + 3 = 6,  
k e dj a n t o t al t 6 x 3 = 1 8

H o ri s o n t ell t 3 + 2 = 5,  
k e dj a n t o t al t 5 x 2 = 1 0

V e r ti k al t 2 + 1 + 2 = 5,  
k e dj a n t o t al t 5 x 3 = 1 5

V e r ti k al t 2 + 3 = 5,  
k e dj a n t o t al t 5 x 2 = 1 0

E n s t a k a s t e n a r 1 + 2 = 3

P o ä n g t o t al t = 5 6

E x e m p e l p å p o ä n g r ä k ni n g

2 x P a r      = 1, 1, 2, 2, 5, 6

3 x P a r      = 1, 1, 2, 2, 3, 3

T ri s s      = 1, 1, 1, 2, 3, 5
F y r t a l     =  1, 1, 1, 1, 2, 3

1 x T ri s s 1 x P a r    = 1, 1, 1, 2, 2, 5

1 x F y r t a l 1 x P a r    = 1, 1, 1, 1, 2, 2

2 x T ri s s      = 1, 1, 1, 2, 2, 2

F y r s t e g e    =  1, 2, 3, 4, 6, 6
F e m s t e g e     =  1, 2, 3, 4, 5, 5

A l l a u d d a     = 1, 3, 5, 1, 3, 5

A l l a  j ä m n a    = 2, 4, 6, 2, 4, 6

1 2 e l l e r mi n d r e m e d 6 t ä r ni n g a r = 1, 2, 2, 3, 3, 1

3 0 e l l e r m e r a m e d 6 t ä r ni n g a r  = 6, 6, 5, 5, 2, 6
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S pi l l e t s m å l
M ål e t  m e d  s pill e t  e r  å  s a ml e  fl e s t  m uli g  p o e n g  
v e d  å  l e g g e  r a d e r  a v  s t ei n e r,  e n t e n  h o ri s o n t al t  
ell e r  v e r ti k al t.  S pill e r e n  m e d  fl e s t  p o e n g  e t t e r  
1 0 r u n d e r vi n n e r s pill e t.

F o r b e r e d e l s e r
Pl a s s e r  s pill e b r e t t e t  m ell o m  s pill e r n e.  H v e r  
s pill e r  v el g e r  f a r g e  p å  s t ei n e n e  si n e  o g  l e g g e r  
all e si n e s t ei n e r f o r a n s e g s el v. S pill e r n e k a s t e r 
é n t e r ni n g f o r å b e s t e m m e s pill e r e k k ef øl g e n.

S pi l l e t
S pill e r n e  k a s t e r  all e  s e k s  t e r ni n g e n e  e t t e r  t u r.  
S pill e r e n  k a n  v el g e  å  b e h ol d e  r e s ul t a t e t  ell e r  
k a s t e  é n  ell e r  fl e r e  t e r ni n g e r  p å  n y t t.  D e t  e r  
till a t t  å  k a s t e  p å  n y t t  o p p til  t o  g a n g e r  p e r  t u r.  
D e r s o m e n s pill e r o p p n å r r e s ul t a t e t s o m k r e v e s 
f o r  e t  l e di g  f el t  p å  s pill e b r e t t e t,  s k al  s pill e r e n  
l e g g e e n a v si n e s t ei n e r p å d e t t e f el t e t. D e r s o m 
s pill e r e n h a r fl e r e f el t e r h a n / h u n k a n l e g g e e n 

2 – 4 s pi l l e r e
3 0 mi n
8 ±

st ei n  p å,  k a n  s pill e r e n  v el g e  e t  f el t  e t t e r  e g e t  
ø n s k e.  F o r  e k s e m p el:  H vi s  t e r ni n g e n e  vi s e r  6,  
4,  4,  4,  2,  2,  k a n  s t ei n e n  pl a s s e r e s  e n t e n  p å  
 ” P a r t all ”-f el t e t ell e r p å ” 3 + 2 li k e ”-f el t e t. 

D e r s o m  s pill e r e n  f å r  f e m  li k e  ell e r  s e k s  p å  r a d  
( 1,  2,  3,  4,  5,  6)  k a n  h a n / h u n  pl a s s e r e  s t ei n e n  
p å e t v al gf ri t t l e di g f el t.

D e r s o m s pill e r e n f å r s e k s li k e k a n h a n / h u n o g s å 
v el g e å t a o v e r e t f el t, s el v o m f el t e t  all e r e d e e r 
o p p t a t t  a v  e n  a v  m o t s t a n d e r n e s  s t ei n e r.  S pil -
l e r e n  s k al  d a  fl y t t e  m o t s t a n d e r e n s  s t ei n  til  e t  
a n n e t l e di g f el t.

D e r s o m  s pill e r e n  i k k e  l y k k e s  m e d  å  o p p n å  
 r e s ul t a t e t  s o m  k r e v e s  f o r  n o e n  a v  d e  l e di g e  
 f el t e n e, m å h a n / h u n l e g g e e n s t ei n i s pill e s k e n. 

N å r  s pill e r e n  h a r  pl a s s e r t  e n  s t ei n,  e n t e n  p å  
b r e t t e t  ell e r  i  e s k e n,  g å r  t u r e n  vi d e r e  m e d  
 kl o k k e n.

O b s! D e t e r v a nli g vi s b e s t å pl a s s e r e s t ei n e n p å 
e t  f el t  s o m  li g g e r  i n n til  e t  a n n e t  f el t  ( h o ri s o n -
t al t ell e r v e r ti k al t) s o m all e r e d e h a r e n a v di n e 
e g n e s t ei n e r ( s e p o e n g gi v ni n g).

I n n h o l d
- 1 s pi l l e b r e t t

- 6 t e r ni n g e r
- 4 0 s t ei n e r

( 1 0 p e r f a r g e)

– N å r t e r ni n g e n r u l l e r e r k a m p e n i g a n g –



O b s!  All e  t e r ni n g e n e  r e g n e s  m e d.  D e r s o m  
 s pill e r e n  k a s t e r  5,  5,  5,  3,  3,  2,  m å  h a n / h u n  
pl a s s e r e  s t ei n e n  p å  ” 3- 2  li k e ”-f el t e t,  i k k e  p å  ” 3  
li k e ”-f el t e t.

P o e n g gi v ni n g
N å r h v e r s pill e r h a r h a t t 1 0 t u r e r o g all e  s t ei n e n e 
e r pl a s s e r t s k al p o e n g e n e r e g n e s s a m m e n. 

E n k el t s t ei n e r  t ell e r  i  h e n h ol d  til  v e r di e n  til  
 f el t e t d e e r pl a s s e r t p å:

•  R ø d e f el t e r e r v e r d t 3 p o e n g 

•  S v a r t e f el t e r e r v e r d t 2 p o e n g

•  K vi t e f el t e r e r v e r d t 1 p o e n g 

R a d e r  m e d  fl e r e  s t ei n e r  e r  v e r d t  t o t al  s u m m e n  
a v h v e r e n k el t s t ei n i r a d e n, g a n g e t m e d  a n t all 
s t ei n e r  i  r a d e n.  Si d e n  r a d e n e  k a n  g å  b å d e  
 h o ri s o n t al t  o g  v e r ti k al t,  k a n  n o e n  f el t e r  t ell e  i  
t o f o r s kj elli g e r a d e r.

D e f o r s kj e l li g e f e l t e n e m e d e k s e m p e l p å t e r ni n g k o m bi n a sj o n

P o e n g til g r ø n n s pill e r:

H o ri s o n t al t: S t ei n e n e gi r 1 + 2 + 3 = 6, 

r a d e n s t o t al s u m e r 6 x 3 = 1 8

H o ri s o n t al t: S t ei n e n e gi r 3 + 2 = 5, 

r a d e n s t o t al s u m e r 5 x 2 = 1 0

V e r ti k al t: S t ei n e n e gi r 2 + 1 + 2 = 5, 

r a d e n s t o t al s u m e r 5 x 3 = 1 5

V e r ti k al t: S t ei n e n e gi r 2 + 3 = 5, 

r a d e n s t o t al s u m e r 5 x 2 = 1 0

E n k el tf el t e r: 1 + 2 = 3

T o t al s u m = 5 6

E k s e m p e l p å p o e n g gi v ni n g

2 p a r      = 1, 1, 2, 2, 5, 6

3 p a r      = 1, 1, 2, 2, 3, 3

3 li k e      = 1, 1, 1, 2, 3, 5

4 li k e      = 1, 1, 1, 1, 2, 3

3 ± 2 li k e      = 1, 1, 1, 2, 2, 5

4 ± 2 li k e      = 1, 1, 1, 1, 2, 2

3 ± 3 li k e      = 1, 1, 1, 2, 2, 2

4 p å r a d      = 1, 2, 3, 4, 6, 6
5 p å r a d      = 1, 2, 3, 4, 5, 5

K u n o d d e t a l l    = 1, 3, 5, 1, 3, 5

K u n p a r t a l l    = 2, 4, 6, 2, 4, 6

1 2 e l l e r mi n d r e p å 6 t e r ni n g e r  = 1, 2, 2, 3, 3, 1

3 0 e l l e r m e r p å 6 t e r ni n g e r  = 6, 6, 5, 5, 2, 6

A A A

A A A

B B B

A B C D

A A A A

B B

A A A A

A B C D E

AA

BB

AA

BB

CC

  

< 1 2-

  
  
  

= 1, 3, 5

  
  
  

= 2, 4, 6

> 3 0-



S pi l l e t s f o r m å l
At s c o r e fl e s t p oi n t v e d a t d a n n e r æ k k e r m e d e t 
a n t al s t e n p å s t ri b e, e n t e n v a n d r e t ell e r l o d r e t. 
D e n s pill e r, d e r h a r fl e s t p oi n t ef t e r 1 0 r u n d e r, 
vi n d e r s pill e t.

F o r b e r e d e l s e
A n b ri n g  s pill e b r æ t t e t  mi d t  p å  s pill e o m r å d e t.  
H v e r  s pill e r  v æl g e r  e n  f a r v e  o g  l æ g g e r  all e  1 0  
s t e n  i  d e n  p å g æl d e n d e  f a r v e  i  e n  b u n k e  f o r a n  
si g. V æl g, h v e m d e r s k al s t a r t e, v e d a t k a s t e é n 
t e r ni n g.

S å d a n s pi l l e s s pi l l e t
S pill e r n e s kif t e s til a t k a s t e all e s e k s t e r ni n g e r. 
E n  s pill e r  m å  a c c e p t e r e  d e t,  t e r ni n g e r n e  vi s e r,  
ell e r  k a s t e  e n  af  ell e r  all e  t e r ni n g e r n e  i g e n.  
 S pill e r e n  m å  k a s t e  o m  o p  til  t o  g a n g e  p r.  t u r.  
H vi s  e n  s pill e r  r a m m e r  e t  af  d e  t o m m e  f el t e r  
p å  s pill e b r æ t t e t,  m å  h a n / h u n  l æ g g e  e n  af  si n e  
s t e n  p å  d e t  p å g æl d e n d e  f el t.  H vi s  d e r  e r  fl e -

2- 4 spille re
3 0 mi n
8 ±

r e   m uli g e  pl a c e ri n g e r,  m å  s pill e r e n  v æl g e  f ri t.  
H vi s t e r ni n g e r n e f o r e k s e m p el vi s e r 6, 4, 4, 4, 2, 2, 
m å  s t e n e n  pl a c e r e s  e n t e n  p å  f el t e t  “ K u n  li g e ”  
ell e r f el t e t “ 1 x 3 e n s, 1 x p a r ”. 

H vi s  s pill e r e n  k a s t e r  f e m  e n s  ell e r  s e k s  t al  i  
r æ k k ef øl g e  ( 1, 2, 3, 4, 5, 6),  m å  h a n / h u n  pl a c e r e  
si n s t e n p å e t vil k å rli g t t o m t f el t.

H vi s  s pill e r e n  k a s t e r  s e k s  e n s,  m å  h a n / h u n  
o v e r t a g e  e t  vil k å rli g t  f el t,  o g s å  s el v o m  d e r  
 all e r e d e  li g g e r  e n  a n d e n  s pill e r s  s t e n  p å  f el t e t.  
S pill e r e n  fl y t t e r  d e n  a n d e n  s pill e r s  s t e n  til  e t  
vil k å rli g t t o m t f el t.

H vi s  s pill e r e n  i k k e  k a s t e r  n o g e n  af  d e  a n gi v n e  
k o m bi n a ti o n e r, s k al h a n / h u n l æ g g e e n s t e n til -
b a g e i s pil æ s k e n. 

N å r  s pill e r e n  h a r  pl a c e r e t  e n  s t e n  p å  s pill e -
b r æ t t e t  ell e r  i  s pil æ s k e n,  f o r t s æ t t e r  s pill e t  i  
u r e t s r e t ni n g.

N o t e 1 D e t e r n o r m al t e n g o d i d é a t pl a c e r e si n 
s t e n  p å  e t  f el t,  d e r  s t ø d e r  di r e k t e  o p  til  e t  f el t,  
h v o r m a n all e r e d e s el v h a r l a g t e n s t e n, h vi s d e t 
e r m uli g t.  ( S e P oi n t t ælli n g).

I n d h ol d
- 1 spille b r æt
- 6 te r ni nge r

- 4 0 ste n 
( 1 0 af h ve r f a r ve)

- K a s t t e r ni n g e r n e, o g l a d s pi l l e t b e g y n d e -



N o t e 2 All e t e r ni n g e r n e s k al t æll e s m e d. H vi s e n 
s pill e r  k a s t e r  5, 5, 5, 3, 3, 2,  s k al  h a n / h u n   pl a c e r e  
si n s t e n p å f el t e t “ 1 x 3 e n s, 1 x p a r ” o g i k k e p å 
f el t e t “ 3 e n s ”.

  

P oi n t t æ l li n g
N å r h v e r s pill e r h a r h af t 1 0 t u r e, o g all e s t e n e n e 
e r pl a c e r e t, t æll e s p oi n t e n e s a m m e n. 

E n k el t s t e n  gi v e r  d e t  a n t al  p oi n t,  d e r  s v a r e r  til  
d e t f el t, d e e r pl a c e r e t p å:

•  R ø d e f el t e r e r 3 p oi n t v æ r d 

•  S o r t e f el t e r e r 2 p oi n t v æ r d

•  H vi d e f el t e r e r 1 p oi n t v æ r d 

R æ k k e r  m e d  fl e r e  s t e n  p å  s t ri b e  gi v e r  d e t  
 a n t al  p oi n t,  s o m  d e  e n k el t e  s t e n  i  r æ k k e n  
 gi v e r   til s a m m e n,  g a n g e t  m e d  a n t all e t  af  s t e n  i  
 r æ k k e n. D a r æ k k e r n e k a n v æ r e b å d e v a n d r e t t e 
o g  l o d r e t t e,  t æll e r  n o gl e  f el t e r  m uli g vi s  m e d  i  
b e g g e r e t ni n g e r.

Felte r p å spille b r ættet me d e kse mple r p å te r ni nge k ast

P oi n t f o r g r ø n s pill e r

V a n d r e t: s t e n 1 + 2 + 3 = 6, 
s a ml e t f o r r æ k k e n 6 x 3 = 1 8

V a n d r e t: s t e n 3 + 2 = 5,  
s a ml e t f o r r æ k k e n 5 x 2 = 1 0

L o d r e t: s t e n 2 + 1 + 2 = 5, 
s a ml e t f o r r æ k k e n 5 x 3 = 1 5

L o d r e t: s t e n 2 + 3 = 5,  
s a ml e t f o r r æ k k e n 5 x 2 = 1 0

E n k el t s t e n: 1 + 2 = 3

I al t = 5 6

I l l u s t r a ti o n a f s c o r e d e p oi n t

2  p a r    = 1, 1, 2, 2, 5, 6

3  p a r    = 1, 1, 2, 2, 3, 3

3 e ns      = 1, 1, 1, 2, 3, 5

4 e ns      = 1, 1, 1, 1, 2, 3

1 x 3 e ns, 1 x p a r    = 1, 1, 1, 2, 2, 5

1 x 4 e ns, 1 x p a r    = 1, 1, 1, 1, 2, 2

2 x 3 e ns      = 1, 1, 1, 2, 2, 2

4 i r æ k kef ølge    = 1 , 2 , 3 , 4 , 6 , 6
5 i r æ k kef ølge    = 1 , 2 , 3 , 4 , 5 , 5

K u n ulige      = 1, 3, 5, 1, 3, 5

K u n lige      = 2, 4, 6, 2, 4, 6

1 2 elle r de r u n de r me d 6 te r ni nge r  = 1 , 2 , 2 , 3 , 3 , 1

3 0 elle r de r o ve r me d 6 te r ni nge r  = 6 , 6 , 5 , 5 , 2 , 6

A A A

A A A

B B B

A B C D

A A A A

B B

A A A A

A B C D E

AA

BB

AA

BB

CC

  

< 1 2-

  
  
  

= 1, 3, 5

  
  
  

= 2, 4, 6

> 3 0-



Ai m o f t h e G a m e
T o  s c o r e  t h e  m o s t  p oi n t s  b y  b uil di n g  li n e s  
of  c o n s e c u ti v e  s t o n e s,  ei t h e r  h o ri z o n t all y  o r  
 v e r ti c all y. T h e pl a y e r wi t h t h e m o s t p oi n t s af t e r 
1 0 r o u n d s wi n s t h e g a m e.

P r e p a r a ti o n s
Pl a c e t h e g a m e b o a r d i n t h e mi d dl e of t h e pl a y 
a r e a.  E a c h  pl a y e r  c h o o s e s  t h e  s t o n e s  i n  o n e  
 c ol o u r  a n d  pil e s  all  of  t h e  t e n  s t o n e s  i n  f r o n t  
of  hi m s elf.  D e ci d e  t h e  o r d e r  of  pl a y  b y  r olli n g  
o n e di e.

P l a yi n g
I n  t u r n,  pl a y e r s  r oll  all  6  di c e.  T h e  pl a y e r  m a y  
a c c e p t  t h e  r oll  o r  r e- r oll  all  o r  a n y  of  t h e  di c e.  
U p  t o  t w o  r e- r oll s  a r e  p e r mi t t e d  i n  a  t u r n.  If  a  
pl a y e r a c hi e v e s a n y of t h e v a c a n t t a r g e t s o n t h e 
g a m e b o a r d, t h e pl a y e r pl a c e s o n e of hi s s t o n e s 
i n  t h e  t a r g e t  s q u a r e.  T h e r e  m a y  b e  s e v e r al  

2 – 4 p l a y e r s
3 0 mi n
8 ±

 o p ti o n s of w h e r e t o pl a c e a s t o n e. F o r e x a m pl e, 
w h e n 6, 4, 4, 4, 2, 2 c o m e u p o n t h e di c e, t h e s t o n e 
c a n b e pl a c e d ei t h e r i n t h e “ All e v e n ” s q u a r e o r 
i n t h e “ 1 x 3 of a ki n d, 1 x P ai r ” s q u a r e. 

If  fi v e  of  a  ki n d  o r  a  r u n  of  si x  ( 1, 2, 3, 4, 5, 6)  i s  
r oll e d,  t h e  pl a y e r  m a y  pl a c e  a  s t o n e  o n  a n y  
 v a c a n t  s q u a r e.

If  si x  of  a  ki n d  i s  r oll e d,  t h e  pl a y e r  m a y  t a k e  
o v e r  a n y  s q u a r e,  e v e n  if  i t  i s  al r e a d y  o c c u pi e d  
b y a n o t h e r pl a y e r’ s s t o n e. T h e pl a y e r pl a c e s t h e 
di s pl a c e d s t o n e i n a n y o t h e r v a c a n t s q u a r e.

If t h e pl a y e r d o e s n o t m a n a g e t o r oll a n y of t h e 
t a r g e t s, h e pl a c e s a s t o n e i n t h e g a m e b o x. 

O n c e t h e pl a y e r h a s pl a c e d a s t o n e, o n t h e b o a r d 
o r i n t o t h e b o x, t h e pl a y c o n ti n u e s cl o c k wi s e.

N o t e 1.  I t  i s  u s u all y  b e s t  t o  pl a c e  s t o n e s  o n  
s q u a r e s  a dj a c e n t  h o ri z o n t all y  o r  v e r ti c all y  t o  
t h o s e  al r e a d y  o c c u pi e d  b y  o n e s elf,  if  p o s si bl e.   
( S e e S c o ri n g)

N o t e 2. All of t h e di c e a r e t a k e n i n t o a c c o u n t. If 

C o n t e n t s
- 1 g a m e b o a r d

- 6 di c e
- 4 0 s t o n e s  

( 1 0 p e r c o l o u r)

- R o l l t h e di c e a n d t h e b a t t l e b e gi n s -



t h e pl a y e r r oll s 5, 5, 5, 3, 3, 2, h e s h o ul d pl a c e t h e 
s t o n e  i n  t h e ” 1  x  3  of  a  ki n d,  1  x  P ai r ”  s q u a r e,  
n o t i n t h e “ 3 of a ki n d ” s q u a r e.

S c o ri n g
W h e n e a c h pl a y e r h a s h a d 1 0 t u r n s a n d all t h e 
s t o n e s h a v e b e e n pl a c e d, d o t h e s c o ri n g. 

Si n gl e  s t o n e s  c o u n t  t h e  v al u e  of  t h e  s q u a r e  i n  
w hi c h t h e y si t:

•  R e d s q u a r e s a r e w o r t h 3 p oi n t s 

•  Bl a c k s q u a r e s a r e w o r t h 2 p oi n t s

•  W hi t e s q u a r e s a r e w o r t h 1 p oi n t s 

Li n e s of c o n s e c u ti v e s t o n e s a r e w o r t h t h e t o t al 
of  t h e  si n gl e  s t o n e s  i n  t h e  li n e,  m ul ti pli e d  b y  
t h e  n u m b e r  of  s t o n e s  i n  t h e  li n e.  A s  t h e  li n e s  
c a n  b e  h o ri z o n t al  o r  v e r ti c al,  s o m e  s q u a r e s  

mi g h t s c o r e i n t w o di r e c ti o n s.

T a r g e t s o n t h e g a m e b o a r d wi t h a n e x a m p l e r o l l

P oi n t s f o r t h e g r e e n pl a y e r:

A c r o s s: s t o n e s 1 + 2 + 3 = 6, 
li n e i n t o t al 6 x 3 = 1 8

A c r o s s: s t o n e s 3 + 2 = 5,  
li n e i n t o t al 5 x 2 = 1 0

D o w n: s t o n e s 2 + 1 + 2 = 5, 
li n e i n t o t al 5 x 3 = 1 5

D o w n: s t o n e s 2 + 3 = 5,  
li n e i n t o t al 5 x 2 = 1 0

Si n gl e s: 1 + 2 = 3

T o t al = 5 6

I l l u s t r a ti o n o f p oi n t s s c o r e d

2  P ai r s    =  1, 1, 2, 2, 5, 6

3 P ai r s      = 1, 1, 2, 2, 3, 3

3 o f a ki n d    = 1, 1, 1, 2, 3, 5
4 o f a ki n d    = 1, 1, 1, 1, 2, 3

1 x 3 o f a ki n d, 1 x P ai r  = 1, 1, 1, 2, 2, 5

1 x 4 o f a ki n d, 1 x P ai r  = 1, 1, 1, 1, 2, 2

2 T ri p l e s      = 1, 1, 1, 2, 2, 2

R u n o f 4      = 1, 2, 3, 4, 6, 6
R u n o f 5      = 1, 2, 3, 4, 5, 5

A l l o d d      = 1, 3, 5, 1, 3, 5

A l l e v e n      = 2, 4, 6, 2, 4, 6

1 2 o r l e s s o n 6 di c e    = 1, 2, 2, 3, 3, 1

3 0 o r m o r e o n 6 di c e    = 6, 6, 5, 5, 2, 6

A A A

A A A

B B B

A B C D

A A A A

B B

A A A A

A B C D E

AA

BB

AA

BB

CC

  

< 1 2-

  
  
  

= 1, 3, 5

  
  
  

= 2, 4, 6

> 3 0-



Zi e l d e s S pi e l s
D a s  Zi el  d e s  S pi el s  i s t  e s,  P u n k t e  z u  s a m m el n,  
i n d e m  S t ei n e  i n  m ö gli c h s t  l a n g e n  R ei h e n  
 e n t w e d e r  s e n k r e c h t  o d e r  w a a g r e c h t  a uf  d e m  
S pi el b r e t t  a n g e o r d n e t  w e r d e n.  D e r  S pi el e r,  d e r  
i n n e r h al b  v o n  1 0  R u n d e n  di e  m ei s t e n  P u n k t e  
g e s a m m el t h a t, g e wi n n t d a s S pi el.

S pi e l v o r b e r ei t u n g e n
J e d e r  S pi el e r  w ä hl t  di e  S t ei n e  ei n e r  F a r b e  u n d  
l e g t  all e  s ei n e  z e h n  S t ei n e  v o r  si c h  hi n.  D a s  
S pi el b r e t t  wi r d  i n  di e  Mi t t e  d e s  S pi el b e r ei c h s  
g el e g t.  Mi t  ei n e m  W ü rf el  wi r d  b e s ti m m t,  
 w el c h e r S pi el e r b e gi n n t.

S pi e l v e r l a u f
J e d e r  S pi el e r  wi rf t,  w e n n  e r  a n  d e r  R ei h e  i s t,  
all e  s e c h s  W ü rf el.  D e r  S pi el e r  k a n n  e n t w e d e r  
d a s  E r g e b ni s  d e s  W u rf s  a n n e h m e n  o d e r  all e  
o d e r  ei n e n  T eil  d e r  W ü rf el  e r n e u t  w e rf e n.  E s  
d a rf  h ö c h s t e n s  z w ei m al  n e u  g e w ü rf el t  w e r d e n.  
W e n n d e r S pi el e r ei n W u rf e r g e b ni s e r zi el t, d a s 
ei n e m f r ei e n F el d a uf d e m S pi elf el d e n t s p ri c h t, 
d a rf  d e r  S pi el e r  ei n e n  s ei n e r  S t ei n e  a uf  d a s  
 b e t r eff e n d e F el d l e g e n. Of t h a t d e r S pi el e r m e h -
r e r e  O p ti o n e n.  I n  di e s e m  F all  d a rf  d e r  S pi el e r  

2- 4 S pi e l e r
3 0 Mi n

8 ±

w ä hl e n, a uf w el c h e s F el d e r d e n S t ei n l e g t. Z u m 
B ei s pi el  d a s  E r g e b ni s  6, 4, 4, 4, 2, 2  k a n n  a uf  d a s  
F el d  „ All e  g e r a d e “  o d e r  a uf  d a s  F el d  „ 1  x  d r ei  
Gl ei c h e 1 x z w ei Gl ei c h e “ g el e g t w e r d e n.

W e n n d e r S pi el e r f ü nf Gl ei c h e o d e r ei n e  S t r a ß e 
mi t  s e c h s  W ü rf el n  ( 1, 2, 3, 4, 5, 6)  wi rf t,  d a rf  e r  
 ei n e n S t ei n a uf ei n b eli e bi g e s f r ei e s F el d l e g e n.

W e n n d e r S pi el e r s e c h s Gl ei c h e w ü rf el t, d a rf e r 
ei n e n S t ei n a uf ei n b eli e bi g e s F el d l e g e n. W e n n 
si c h a uf d e m b e t r eff e n d e n F el d s c h o n ei n S t ei n 
b efi n d e t,  d a rf  d e r  S pi el e r  di e s e n  a u s  d e m  W e g  
s c h aff e n  u n d  a uf  ei n  b eli e bi g e s  f r ei e s  F el d  a uf  
d e m S pi el b r e t t l e g e n.

W e n n e s d e m S pi el e r ni c h t g eli n g t, a u c h n u r ei n 
ei n zi g e s d e r Zi el e a uf d e m S pi elf el d z u  w ü rf el n, 
l e g t e r ei n e n s ei n e r S t ei n e i n di e S pi el s c h a c h t el. 
W e n n d e r S pi el e r ei n e n S t ei n a uf d a s B r e t t o d e r 
i n di e S c h a c h t el g el e g t h a t, i s t d e r n ä c h s t e S pi e-
l e r i m U h r z ei g e r si n n a n d e r R ei h e.

N o r m al e r w ei s e i s t e s a m b e s t e n, ei n e n S t ei n i n 
di e s el b e  R ei h e  b e r ei t s  pl a t zi e r t e r  ei g e n e r  S t ei -
n e  z u  l e g e n  ( s e n k r e c h t  o d e r  w a a g r e c h t),  w e n n  
m ö gli c h. ( Si e h e B e r e c h n u n g d e r P u n k t e)

All e g e w o rf e n e n W ü rf el w e r d e n b e r ü c k si c h ti g t. 

I n h a l t
- 1 S pi e l b r e t t

- 6 W ü r f e l
- 4 0 S t ei n e 

( 1 0 p r o F a r b e)

- V o r d e m l e t z t e n W u r f i s t ni c h t s i n S t ei n g e m ei ß e l t -



W e n n  d e r  S pi el e r  5, 5, 5, 3, 3, 2  wi rf t,  m u s s  d e r  
S t ei n  a uf  d a s  F el d  „ 1  x  d r ei  Gl ei c h e  1  x  z w ei  
Gl ei c h e “ g el e g t w e r d e n, ni c h t a uf d a s F el d „ D r ei 
Gl ei c h e “.

B e r e c h n u n g d e r P u n k t e
W e n n  j e d e r  S pi el e r  z e h n m al  a n  d e r  R ei h e  g e -
w e s e n i s t u n d all e S t ei n e pl a t zi e r t w o r d e n si n d, 
w e r d e n di e P u n k t e b e r e c h n e t.

F ü r  ei n z el n e  S t ei n e  b e k o m m t  m a n  P u n k t e  j e -
n e m F el d e n t s p r e c h e n d, a uf d e m si c h d e r S t ei n 
b efi n d e t:

•  D a s r o t e F el d i s t 3 P u n k t e w e r t

•  D a s s c h w a r z e F el d i s t 2 P u n k t e w e r t

•  D a s w ei ß e F el d i s t 1 P u n k t w e r t 

Di e  P u n k t e  d e r  ei n h ei tli c h e n  K e t t e n  w e r d e n  s o  
b e r e c h n e t,  d a s s  di e  G e s a m t p u n k t e  d e r  S t ei n e  
d e r K e t t e mi t d e r A n z a hl d e r z u r K e t t e g e h ö r e n -
d e n  S t ei n e  m ul ti pli zi e r t  w e r d e n.  D a  di e  K e t t e n  
s o w o hl  s e n k r e c h t  al s  a u c h  w a a g r e c h t  g e bil d e t  
w e r d e n  k ö n n e n,  k ö n n e n  m a n c h e  S t ei n e  z w ei -
m al P u n k t e b ri n g e n.

Di e Zi e l e a u f d e m S pi e l b r e t t mi t B ei s pi e l w ü r f e n

P u n k t e d e s g r ü n e n S pi el e r s:

W a a g r e c h t e S t ei n e 1 + 2 + 3 = 6, 

K e t t e g e s. 6 x 3 = 1 8

W a a g r e c h t e S t ei n e 3 + 2 = 5, 
K e t t e g e s. 5 x 2 = 1 0

S e n k r e c h t e S t ei n e 2 + 1 + 2 = 5, 
K e t t e g e s. 5 x 3 = 1 5

S e n k r e c h t e S t ei n e 2 + 3 = 5,  
K e t t e g e s. 5 x 2 = 1 0

Ei n z el n e S t ei n e 1 + 2 = 3

P u n k t e g e s a m t = 5 6

B ei s pi e l f ü r di e B e r e c h n u n g d e r P u n k t e

2 x z w ei G l ei c h e    = 1, 1, 2, 2, 5, 6

3 x z w ei G l ei c h e    = 1, 1, 2, 2, 3, 3

D r ei G l ei c h e    = 1, 1, 1, 2, 3, 5

Vi e r G l ei c h e    = 1, 1, 1, 1, 2, 3

1 x d r ei G l ei c h e 1 x z w ei G l ei c h e = 1, 1, 1, 2, 2, 3

1 x vi e r G l ei c h e 1 x z w ei G l ei c h e = 1, 1, 1, 1, 2, 2

2 x d r ei G l ei c h e    = 1, 1, 1, 2, 2, 2

S t r a ß e mi t vi e r    = 1, 2, 3, 4, 6, 6
S t r a ß e mi t f ü n f    = 1, 2, 3, 4, 5, 5

A l l e u n g e r a d e    = 1, 3, 5, 1, 3, 5

A l l e g e r a d e    = 2, 4, 6, 2, 4, 6

Mi t 6 W ü r f e l n 1 2 o d e r w e ni g e r  = 1, 2, 2, 3, 3, 1

Mi t 6 W ü r f e l n 3 0 o d e r m e h r  = 6, 6, 5, 5, 2, 6

A A A

A A A

B B B

A B C D

A A A A

B B

A A A A

A B C D E

AA

BB
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< 1 2-

  
  
  

= 1, 3, 5

  
  
  

= 2, 4, 6

> 3 0-



S c o p o d e l gi o c o 
T ot ali z z a r e  il  p u n t e g gi o  pi ù  al t o,  c r e a n d o  s ul  
pi a n o  di  gi o c o  li n e e  i ni n t e r r o t t e  di  p e di n e,  si a  
i n  o ri z z o n t al e  c h e  i n  v e r ti c al e.  Il  gi o c a t o r e  c o n  
il  p u n t e g gi o  pi ù  al t o  al  t e r mi n e  di  1 0  r o u n d  di  
gi o c o vi n c e l a p a r ti t a.

 

P r e p a r a zi o n e
C oll o c a t e il pi a n o di gi o c o al c e n t r o d el t a v ol o. 
O g ni  gi o c a t o r e  s c e gli e  u n  c ol o r e,  p r e n d e  l e  1 0  
p e di n e d el c ol o r e p r e s c el t o e l e alli n e a di f r o n t e 
a  s é.  C o n  u n  l a n ci o  di  d a di  s t a bili t e  c hi  s a r à  il  
p ri m o a gi o c a r e. Il gi o c o p oi p r o s e g u e i n s e n s o 
o r a ri o.

C o m e si gi o c a
Il gi o c a t o r e di t u r n o l a n ci a I 6 d a di, q ui n di p u ò 
d e ci d e r e  s e  a c c e t t a r e  l’ e si t o  d el  l a n ci o  o p p u r e  
s e  ril a n ci a r e  u n o  o  pi ù  d a di  ( a n c h e  t u t ti  e  6).  
A d  o g ni  t u r n o  s o n o  c o n s e n ti ti  al  m a s si m o  d u e  
l a n ci s u p pl e m e n t a ri  e a d o g ni l a n ci o s u c c e s si v o 
al p ri m o il gi o c a t o r e è s e m p r e li b e r o di d e ci d e r e 
q u ali  e  q u a n ti  d a di  ril a n ci a r e.  S e  il  gi o c a t o r e  

2 – 4 gi o c a t o ri
3 0 mi n
8 ±

otti e n e  u n  p u n t e g gi o  p r e s e n t e  s u  u n a  c a s ell a  
li b e r a  d el  pi a n o  di  gi o c o,  il  gi o c a t o r e  p o n e  s u  
q u e s t a  c a s ell a  u n a  d ell e  s u e  p e di n e.  Ci  s o n o  
s p e s s o  di v e r s e  o p zi o ni  a  di s p o si zi o n e  d el  gi o -
c a t o r e,  i n  b a s e  all a  c o m bi n a zi o n e  di  p u n t e g gi  
o t t e n u ti c o n i d a di. P e r e s e m pi o, c o n 6, 4, 4, 4, 2, 2 
l a  p e di n a  p u ò  e s s e r e  c oll o c a t e  si a  s ull a  c a s ell a  
“ T u t ti p a ri ” c h e n ell a c a s ell a “ t ri s ” o “ c o p pi a ”.

S e  si  o t ti e n e  u n a  s c al a  c o m pl e t a  ( 1, 2, 3, 4, 5, 6)  si  
p u ò  c oll o c a r e  il  p r o p ri o  p e z z o  s u  q u al si a si  c a -
s ell a li b e r a, o p p u r e s u u n a c a s ell a gi à o c c u p a t a 
d a u n p e z z o a v v e r s a ri o, m u o v e n d o q u e s t’ ul ti m o 
s u  u n’ al t r a  c a s ell a  li b e r a  a  s c el t a  d el  gi o c a t o r e  
di t u r n o. 

S e il gi o c a t o r e di t u r n o n o n è i n g r a d o di o t t e -
n e r e  al c u n a  c o m bi n a zi o n e  c h e  gli  c o n s e n t a  di  
m e t t e r e i n gi o c o u n a d ell e s u o p e di n e, n o n s ol o 
p e r d e  il  t u r n o,  m a  d e v e  a n c h e  s c a r t a r n e  u n e  
a n c o r a  a  s u a  di s p o si zi o n e,  ri p o n e n d ol a  n ell a  
s c a t ol a. 

N o t a 1.  Di  s oli t o  è  c o n si gli a bil e  c oll o c a r e  u n a  
p r o p ri a  p e di n a  a di a c e n t e  i n  o ri z z o n t al e  o  v e r -
ti c al e a u n’ al t r a d el p r o p ri o c ol o r e gi à c oll o c a t a 
s ul pi a n o di gi o c o. ( V e d e r e “ P u n t e g gi o ”)

C o m p o n e n ti
- 1 pi a n o di gi o c o

- 6 d a di
- 4 0 p e di n e i n 4 c o l o ri 

( 1 0 p e r o g ni c o l o r e)

- L a n ci a t e i d a di e c h e l a b a t t a g li a a b bi a i ni zi o -



N o t a 2.  Bi s o g n a  s e m p r e  c o n si d e r a r e  t u t ti  i  d a di  
e  n o n  s ol o  u n a  p a r t e.  P e r  e s e m pi o  s e  il  gi o -
c a t o r e  di  t u r n o  h a  o t t e n u t o  5, 5, 5, 3, 3, 2,  d o v r à  
p o si zi o n a r e  l a  p r o p ri a  p e di n a  s ull a  c a s ell a  c h e  
i n di c a “ t ri s + c o p pi a ”, n o n p o t r à u s a r e l a c a s ell a 
c h e i n di c a s ol o il “ t ri s ”.

P u n t e g gi o
D o p o  1 0  t u r nI  di  gi o c o  si  p a s s a  al  c o n t e g gi o  
d el p u n ti. 

O g ni  p e di n a  t o t ali z z a  u n  p u n t e g gi o  p a ri  all a  
 c a s ell a s ull a q u al e si t r o v a: 

•  C a s ell e R o s s e: 3 p u n ti 

•  C a s ell e V e r di: 2 p u n ti

•  C a s ell e N e r e: 1 p u n t o 

Li n e e  i ni n t e r r o t t e  di  p e di n e  t o t ali z z a n o  u n  
p u n t e g gi o p a ri al t o t al e d el v al o r e d ell e c a s ell e 
o c c u p a t e,  m ol ti pli c a t o  p e r  il  n u m e r o  di  p e di n e  
c h e  c o m p o n g o n o  l a  li n e a.  P oi c h é  l e  li n e e  p o s -
s o n o  e s s e r e  o t t e n u t e  si a  o ri z z o n t al m e n t e  c h e  
v e r ti c al m e n t e,  al c u n e  c a s ell e  p o s s o n o  e s s e r e  
c o n t a t e d u e v ol t e i n d u e c o m bi n a zi o ni di v e r s e.

P o s si bi li  c a s e l l e  d a  o c c u p a r e  i n  b a s e  a d  a l c u ni  p u n t e g gi  di  e s e m pi o

P u n ti p e r il gi o c a t o r e v e r d e:

O ri z z o n t al e: 1 + 2 + 3 = 6, i n li n e a 
6 x 3 = 1 8

O ri z z o n t al e: 3 + 2 = 5,  
I n li n e a 5 x 2 = 1 0

V e r ti c al e: 2 + 1 + 2 = 5, i n li n e a 
5 x 3 = 1 5

V e r ti c al e: 2 + 3 = 5,  
i n li n e a 5 x 2 = 1 0

P e z zi si n g oli: 1 + 2 = 3

T o t al e = 5 6

E s e m pi o di p u n t e g gi o

2  C o p pi e    = 1, 1, 2, 2, 5, 6

3  C o p pi e    = 1, 1, 2, 2, 3, 3

T ri s     = 1, 1, 1, 2, 3, 5

P o k e r     = 1, 1, 1, 1, 2, 3

1 T ri s, 1 C o p pi a    = 1, 1, 1, 2, 2, 5

1 P o k e r, 1 C o p pi a    = 1, 1, 1, 1, 2, 2

2  T ri s    = 1, 1, 1, 2, 2, 2

S c a l a d a 4     = 1, 2, 3, 4, 6, 6
S c a l a d a 5    = 1, 2, 3, 4, 5, 5

T u t ti di s p a ri    = 1, 3, 5, 1, 3, 5

T u t ti  p a ri    = 2, 4, 6, 2, 4, 6

M e n o di 1 2 i n t o t a l e    = 1, 2, 2, 3, 3, 1

3 0 o pi ù i n t o t a l e    = 6, 6, 5, 5, 2, 6
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